o | BIAR | BESR BEUR FERUR
| 101 8 sROJE K 5RO5A
2 101 1 TO=K RO
3 101 27 F0OIz PRORE
4 102 4 EOF EO=
5 102 5 BRO1A MO
6 102 20 RO HOZE
/ 103 13 12O MOZ=
8 103 14 =018 =0%
9 103 25 50X B0,
10 104 13 MOE =0k
11 104 15 B0 BOFRO
12 104 16 =05 =50=
13 105 21 ALOWE ALO4H
14 105 23 ZOH TO£0
15 105 24 RO BOE
16 201 18 TOI5 TOIE
17 201 21 RO MOF5
18 201 23 F0% FOIE
19 202 2 OB RO
20 | 202 3 BROM 1 OY]
21 202 12 MOk FROH
22 | 203 4 BOIT RO
23 | 203 5 BORL FROSE
24 | 203 21 770K 7705
25 | 204 | 1/ TOIE TOE2
26 | 204 | 20 HOR BOZ
27 | 204 | 24 FOuf FOR
28 | 205 ] =02 =08
29 | 205 17 EBO%E sROIE
30 | 205 | 22 MOR = OAB
31 206 | 10 FOIg FO=
32 | 206 17 B0 BO+E
33 1 206 | 19 TOR 2015
34 | 207 6 MOTE MO
35 | 207 8 =07 =0%)
36 | 207 | 14 FOF PR O
37 301 13 EOR MOE
38 | 302 18 ZOF =0k
39 | 303 0 TOR TOE
40 | 304 6 MO OAME
41 305 14 FBOXK fRO= &
42 | 306 | 20 BROMA PBROT%




43 401 13 210K HO¥F
44 | 402 | 22 TOFx #=OE
45 | 403 12 BROX BROHRA
46 [ 404 | 20 EO= OB
47 | 405 | 22 2O O
48 | 4006 5 FOF FOE
49 501 0 wO% FORK
50 | 502 2 BO&E BOB
57 504 6 =009 2015
52 505 15 F0O FOM
53 506 16 BROR = O3
54 | 507/ 19 EEOHI Z 0l
55 601 6 FOIx =08
56 | 602 2 HOJE O
57 | 603 18 =0f% Z0OX
58 | 604 | 14 AFOx Z08F
59 | 605 13 MO%E BOE
60 | 606 | 28 HOZ =012




